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Aspirin, CoH3Osq, is synthesized by the reaction of salicylic acid, C7HsO3, with acetic anhydride, C4HsOs.

2C7Hs0s + C4HsO3 > 2 C9HgO4 + H20
(a) When 20.0 g of C7HsOsand 20.0g of C4HgOs react, which is the limiting reagent?
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(b) “What mass in grams of aspirin are formed?
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2. Huge quantities of sulfur dioxide are produced from zinc sulfide by means of the following reaction.

27ZnS(s) + 302(g) 22Zn0(s) + 2S0:(g)
If the typical yield is 86.78%, how much SO should be expected if 4897g of ZnS are used?
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In the commercial production of the element arsenic, arsenic(III) oxicpe is heated with carbon, which reduces

3.
the oxide to the metal according to the following equation:

2As;03 +3C 23CO0; + 4As
If 8.87g of As>03 is used in the reaction and 5.33 g of As is produced, what is the percent yield?
N 03-_%‘\ 7 ™o ﬂ$l03: 4 wol| AS '%Y-,_E\LX'OD
% ooNt Gl X .
‘qu,‘qg\ x«,o.ofg% mol PS =57 ,)(lbo
2 0. 0443mol e n%@%}(%w\qm - :[;O;r.\q"/o ,
79,4%

= (0 !
L.y Qo L PoY 1




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

